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e Tinh limA— Y =X _jim X = lim — ! 1
x>0 sin 2x X_’OZSinxcosx(1+\/1—x) x>0 sinx 2cosx(1+\/1—x) 4
1D 7
Vay limf(x)==+==—
y limf(x)=3+=0;
. sinx—+3cosx .. sinx—+3cosx sin? x —3cos’ x
7). im———— =lim — — =
o~ sin3x x>t 3sinx—4sin” x sir1x(3—4si1r12 x)(sinx+ 3COSX)
4sin*x-3 -1 -2

sinx(3—4sin2x)(sinx+ 3cosx) sinx(sinx+ 3COSX) 3

1-cosxa/cos2x

2

8). L=1lim

x—0 X
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L =1im 1—cosx+/cos2x — lim 1—cos’ xcos2x
0 x* 20 2 (1 + COS XA/COS 2x)
—lim cos” X + sin” x — cos® X cos 2x — lim cos® x (1 —cos 2X) +sin® x
=02 (1 + oS X4/ cos 2x) 202 (1 +Cos x+/cos ZX)
—lim 2sin? x cos® x + sin? x 1im sin® x 2cos’ x+1 3

20 2 (1+Cosx\/cos2x) x>0 x> 14 cosxa/cos2x 2
_ 3
9). L =lim V<05
x>0 tan”® x

L =lim 1-cosx = lim

" tan? x{l +3/cosx + (\3/ CosX )2} ™ 4sin’ %cos2 ;[1 +3/cosx + ({’/cosx )2 ]

.. X
2sin? 5 cos? x

) cos? x 1
=1lim =—.

" 9 cos? ;[1+x3/cosx +(\3/cosx)2} 6

Cau 5: Tim cac gi6i han sau:

-‘3' p— —

1). Hm—tanx ! 2). lim—1 COS X €05 2 3). lim| — 2 —cotx

T2 sin®x -1 x=0 X =0 sin 2x

. 1-42x+1+sinx . Nx?+1-cosx . 1-sin2x—cos2x
4). lim 5). im——————  6). L=lim -

x>0 314 -2« x—0 x> x>0 1+ sin 2x —cos 2x

T
3x+2cos2x+2 COS(Z cos Xj 1-cosx
. cos3x . . -

7). hrITlr S 8). }gr&—x 9). }gr(\)—z

X% sin® > (1-v1-x]

LOI GIAI
1). L= hmB—"tanX_l
. oI 2 sin®x -1

L —1lim tanx—1

x>y (sin2 X —cos’ x)[(\e’/ tan x )2 +3tanx + 1}

sin X — cos X

=lim

x> Cosx(sinx —cos x)(sinx +cos x)[(\e’/tanx)2 +3/tanx + 1}

=lim 1 =

1
x> Cosx(sinx+cos x)[(\g’/tanx)2 +3/tanx + 1} 3

1-cosxcos2x

2). lim
) x—0 X2
. sin®x+cos® Xx—Ccosxcos2x .. _sin’x .. €osX(cosx—cos2x)
=lim =lim +1lim
x—0 X2 x—0 X x—0 X2
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. 03X . X . 3x . X
2 cosxsin— sin — sin— | | sin—
. . 17
=1+lim =1+1lim —.cosx=1+—=—
x—0 X2 x—0 37)( 5 8
2 2

3). L=lim[ _2 —cotx}
0| sin2x

. 1 cosx) .. l-cos’x .. sin? x .
L=lim|— —-— =lim— =lim — =limtanx=0
x>0\ SINXCOSX SINnX x>0 siInXCcosX x>0 sinxcosx x>0

4). L:hml—\/2x+l+smx
>0 \Bx+4-2-x
. 1-v2x+1+sinx .. 1-v2x+1 . sin x
L=lim =lim +1im
0 Bx44-2-x 0V 3x44-2-x 03x+4-2-x
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2(V3X+4+2+X) sinx v3x+4+2+x

=lim +1im =4-4=0
Ho(x+1)(1+\/2x+l) 0 X -x-1
2 p—
5). lim VX~ +1—-cosx
x—0 X2
(\/1+x2 —1)+(l—cosx) (\/1+x2 —1)
. . 1-cosx
I=lim =lim
x—0 X2 x—0 X2 XZ
2 25ir125 1 sin25
=lim X + = lim 2021
0 2(J1ex2 +1) X 0 J14x2 +1 zﬁ
4
6) L_hml—sian—COSZX
' x>0 1+ sin2x — cos 2x
. 1-sin2x—-cos2x ,. 1-cos2x—sin2x ,. 2sin*Xx—2sinXcosx
L=1lim = =lim

=1i
x>0 14+8in2x—cos2x x>0 1—cos2x+sin2x x>0 2sin? x + 2 sin X cos X

. 2SinX(SinX—COSX) sin X — cos X
=lim — - =lim— =-1
x=0 251nx(s1nx+cos x) x=0 sin X 4+ COS X

. cos3x+2c0s2x+2 .. 4cos® x+4cos? x—3cosx

7). lim - = lim
N sin 3x s

3 3

) cosx(2cosx+3)(2cosx—1)
=lim =
n sinx(2cosx—1)(2cosx+1)

X—>
3

3sinx—4sin® x
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